»rese RIS »P.740

FIXIER

PP.740

=

s B
B RV I—-REI\L—-bH5-"

=1=E oI RoHS | <22 IS ke
ST

) — MEBBICED. Y+ T NSO BT E B BRI D TEET

Vv 7 MERHTITEROED AT MOALBERICTEXT,
FUIN—DIeH FHREEICRDEHEFEENLE T,

hF AL B BRI )L KoK

HEZS HE - RENE 1 /B &
Z | S45C . HF A BEFE ARAEFFEI(Big) 24K
M | § S45C “EBEE= v rILAuE | AAFFEIS(SUSXMT) 24
7

S| | AF LR SUS304 A TUFHRILS (SUSXMT) 274

SUS304

M
HEiES
SCSS 0612 Z

""?’ A Bt mm

D
AZEEmm. i&12mm, h F =+ - BERLE

I
] m
h=3 h=3
1 PBEAE
oB i
+0.03
t ¢6 | 150]
v ] ve~30 [ 1209
YLg & (F)
P& | B0E | AE o = HF A
6B | L | 6D | mE | WX M O HEIEE | Bais| oyl SUS304
6| 12 | 20 2 A70 1 6 4 | M4x10 |SCSS 0612 |D| 1,480 | 1,690 | 2,290
8| 18 | 30 3 A70 15 9 5 | M6x15 | SCSS 0818 /D | 1,530 | 1,750 | 2,400
10 | 18 35 3 A70 1.5 | 10 6 | M6x18 | SCSS 1018 D | 1,590 | 1,860 | 2,730
12| 18 | 35 3 A70 1.5 | 11 6 | M6x18 | SCSS 1218 D | 1,590 | 1,860 | 2,730
13 | 18 35 3 A70 15 | 11 6 | M6x18 |SCSS 1318 D | 1,590 | 1,860 | 2,730
15| 18 | 40 3 A70 15 | 13 8 | M6x20 | SCSS 1518 /D | 1,690 | 1,970 | 3,000
16 | 18 | 40 3 A70 15| 13 8 | M6x20 | SCSS 1618 D | 1,690 | 1,970 | 3,000
20| 20 | 45 5 A70 15 | 15 8 | M6x20 |SCSS 2020 /D | 1,910 | 2,180 | 3,270
25| 20 | 50 5 A70 15 | 18 | 10 | M6x25 |SCSS 2520 D | 2,180 | 2,460 | 3,660
30| 20 | 55 5 A70 15 | 20 | 10 | M6x25 |SCSS 3020 /D | 2,290 | 2,730 | 4,090

113

o

’
o

iwarta



